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1. What mass of KClO; can dissolve in 400 g of water at 60 °C? See chart.
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2. How much ammonium chloride can be dissolved in 725 g of water at 60 °C?
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3. How many grams of sodium sulfate will 2000g of water dissolve at 20 °c?
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4. At atemperature of 10 °C a gas has a solubility of 7.3 g/L in water at a pressure of 100
kPa. What pressure is necessary to produce an agueous solution containing 10.1 g/L of
the same gas at the same temperature?
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5. What is the molarity of a solution having 67.3 g of phosphoric acid in 500 mL of
solution?
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6. Calculate the molarity of a solution containing 21 g of-HBr in 500 mL of solution.
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7. What mass, in grams, would be needed to prepare 2.5 L of a 0.45 M sodium hydroxide
sojution.
; F2S vl ™NaOW VYo o R
M= D J ‘ Na \\ ]
L. iV‘-‘-J? \ tf ( Oj -
= (st ( (2‘ \—\
= '1‘\7—<
8. Calculate the mass of NaOH needed to prepare 480 mL of a 1.5 M solution.
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8. Calculation the concentration {% m/m) of a solution composed of 12 g of glucose in 785
g of solution.
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10. Calculation the concentration (% v/v) of a solution composed of 45 mL of ethanol and
689 mL of solution.




11, Calculate the mass of NaCl needed to prepare 200 mL of a 2.6 M solution.
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12. How many moles of solute are in 500 mL of a 2.6 M solution of NaNO;?
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13. Calculate the number of grams of solute needed in problem #137?
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14. How many grams of CuS0O, would you need to prepare 2.5 L of a 1.6 M solution?
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15. A salt solution has a volume of 650 mL and contains 0.5 moles of CaCl,. What is its
molarity? .
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16. An aqueous solution has a volume of 6.0 L and contains 105 g of glucose {CgH1,06).
What is the motiarity?

POy T OERR e | ag ke M /

17. How many grams of solute are in 500 mL of a 3.0 M solution of sulfuric acid?
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18. How many grams of sodium hydroxide are needed to make a 6 M solution? % Asiuwe 1.
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19. Write the net ionic equation for the reaction:
Bal}ﬂ {ag) + D(a2504 (ag) —= BaSO4 (s) + Z/N;rér (ag)
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20. Write the net ionic equation for the reaction:

PV (aa) + 2 cl aa) —> PbCl (s) + 2 0 fac)
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21. Predict the products and write the net ionic equation for:
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